

KEENE - SWANZEY 40100

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	KEENE - SWANZEY 40100 X-A004(345) February 09, 2023, Construction of floodplain and wetland mitigation for the Keene-Swanzey series of projects May 31, 2024 Cheshire	Awarded To: Amount: Award Date:	NORTHEAST EARTH MECHANICS LLC 159 BARNSTEAD ROAD PITTSFIELD, NH 03263 \$1,676,050.00	Certified by:	PETER.E.STAMNAS Director of Project Development	
	Summary of B	idders				
Contractor					Bid Amount	Rank
NORTHEAST EARTH 159 BARNSTEAD F	MECHANICS LLC ROAD, PITTSFIELD NH 03263				\$1,676,050.00	A
CASELLA CONSTRUC 1385 US ROUTE 7,	CTION PITTSFORD VT 05763				\$1,698,714.00	В
B.U.R. CONSTRUCTIO 940 JOHN STARK I	ON LLC HIGHWAY, NEWPORT NH 03773				\$1,765,674.50	С
SUMCO ECO-CONTRA 2 CENTENNIAL DR	ACTING LLC RIVE, SUITE 4D, PEABODAY MA 01960				\$2,678,313.00	D



**KEENE - SWANZEY** 

40100

				F	₽S&E	159 BARN	RTH MECHANICS LLC STEAD ROAD LD, NH 03263	1385 U	ONSTRUCTION S ROUTE 7 RD, VT 05763
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

201.1	CLEARING AND GRUBBING (F)	А	3.00	\$13,000.00	\$39,000.00	\$20,000.00	\$60,000.00	\$5,000.00	\$15,000.00
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	5,600.00	\$3.50	\$19,600.00	\$5.00	\$28,000.00	\$1.60	\$8,960.00
203.1	COMMON EXCAVATION	СҮ	37,100.00	\$12.00	\$445,200.00	\$15.00	\$556,500.00	\$20.70	\$767,970.00
203.11	COMMON EXCAVATION - LRS	СҮ	900.00	\$19.00	\$17,100.00	\$16.00	\$14,400.00	\$42.50	\$38,250.00
214.	FINE GRADING	U	1.00	\$17,930.00	\$17,930.00	\$50,000.00	\$50,000.00	\$12,000.00	\$12,000.00
503.201	COFFERDAMS	U	1.00	\$3,300.00	\$3,300.00	\$9,000.00	\$9,000.00	\$2,700.00	\$2,700.00
503.202	COFFERDAMS	U	1.00	\$3,300.00	\$3,300.00	\$29,000.00	\$29,000.00	\$21,000.00	\$21,000.00
503.203	COFFERDAMS	U	1.00	\$10,000.00	\$10,000.00	\$9,000.00	\$9,000.00	\$4,100.00	\$4,100.00
603.99042	42" TEMPORARY DRAINAGE PIPE	LF	200.00	\$200.00	\$40,000.00	\$100.00	\$20,000.00	\$150.00	\$30,000.00
615.024	RELOCATING TRAFFIC SIGN TYPE B	U	2.00	\$125.00	\$250.00	\$250.00	\$500.00	\$300.00	\$600.00
615.034	RELOCATING TRAFFIC SIGN, TYPE C	U	2.00	\$225.00	\$450.00	\$250.00	\$500.00	\$300.00	\$600.00
615.054	RELOCATING TRAFFIC SIGN TYPE BB	U	2.00	\$50.00	\$100.00	\$250.00	\$500.00	\$300.00	\$600.00
615.064	RELOCATING TRAFFIC SIGN TYPE CC	U	2.00	\$50.00	\$100.00	\$250.00	\$500.00	\$300.00	\$600.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	31,000.00	\$1.00	\$31,000.00	\$1.00	\$31,000.00	\$1.00	\$31,000.00
618.7	FLAGGERS	HR	1,600.00	\$42.00	\$67,200.00	\$39.00	\$62,400.00	\$60.00	\$96,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$80,000.00	\$80,000.00	\$50,000.00	\$50,000.00	\$53,000.00	\$53,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$5,000.00	\$20,000.00	\$6,500.00	\$26,000.00	\$2,500.00	\$10,000.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,600.00	\$5.80	\$9,280.00	\$6.00	\$9,600.00	\$5.80	\$9,280.00
645.531	SILT FENCE	LF	2,750.00	\$3.50	\$9,625.00	\$4.00	\$11,000.00	\$2.60	\$7,150.00
645.611	BONDED FIBER MATRIX (BFM)	LB	23,940.00	\$2.00	\$47,880.00	\$2.50	\$59,850.00	\$2.00	\$47,880.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$5,000.00	\$5,000.00	\$13,000.00	\$13,000.00	\$6,000.00	\$6,000.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	240.00	\$90.00	\$21,600.00	\$100.00	\$24,000.00	\$100.00	\$24,000.00
646.2	TURF ESTABLISHMENT WITHOUT MULCH	А	6.00	\$5,566.05	\$33,396.30	\$8,500.00	\$51,000.00	\$5,800.00	\$34,800.00
647.1	HUMUS	СҮ	3,640.00	\$33.00	\$120,120.00	\$20.00	\$72,800.00	\$9.10	\$33,124.00



**KEENE - SWANZEY** 

40100

				PS&E		NORTHEAST EARTH MECHANICS LLC 159 BARNSTEAD ROAD PITTSFIELD, NH 03263		CASELLA CONSTRUCTION 1385 US ROUTE 7 PITTSFORD, VT 05763	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
650.2	LANDSCAPING	U	1.00	\$145,500.00	\$145,500.00	\$150,000.00	\$150,000.00	\$140,000.00	\$140,000.00
662.282	DECOMMISSION MONITORING WELL	LF	30.00	\$80.00	\$2,400.00	\$100.00	\$3,000.00	\$150.00	\$4,500.00
670.0491	CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD	U	1.00	\$55,000.00	\$55,000.00	\$100,000.00	\$100,000.00	\$95,000.00	\$95,000.00
670.95	TEMPORARY SAFETY FENCE	LF	1,000.00	\$5.00	\$5,000.00	\$4.00	\$4,000.00	\$2.10	\$2,100.00
692.	MOBILIZATION	U	1.00	\$86,469.82	\$86,469.82	\$150,000.00	\$150,000.00	\$115,000.00	\$115,000.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$3,500.00	\$3,500.00	\$5,500.00	\$5,500.00	\$4,000.00	\$4,000.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$5,600.00	\$5,600.00	\$7,500.00	\$7,500.00	\$4,000.00	\$4,000.00
698.12	FIELD OFFICE TYPE B	MON	15.00	\$2,250.00	\$33,750.00	\$2,000.00	\$30,000.00	\$2,800.00	\$42,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	12,500.00	\$1.00	\$12,500.00	\$1.00	\$12,500.00	\$1.00	\$12,500.00
1010.15	FUEL ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
			Totals:		\$1,416,151.12		\$1,676,050.00		\$1,698,714.00
			Alt. Totals:						
			Totals:		\$1,416,151.12		\$1,676,050.00		\$1,698,714.00



**KEENE - SWANZEY** 

40100

X-A004(345)

				F	°S&E	940 JOHN S	TRUCTION LLC ARK HIGHWAY T, NH 03773	2 CENTER	ONTRACTING LLC NNIAL DRIVE AY, MA 01960
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

201.1	CLEARING AND GRUBBING (F)	А	3.00	\$13,000.00	\$39,000.00	\$23,000.00	\$69,000.00	\$66,000.00	\$198,000.00
201.881		SY	5,600.00	\$3.50	\$19,600.00	\$4.00	\$22,400.00	\$8.50	\$47,600.00
		-	,						
203.1	COMMON EXCAVATION	CY	37,100.00	\$12.00	\$445,200.00	\$9.75	\$361,725.00	\$19.75	\$732,725.00
203.11	COMMON EXCAVATION - LRS	CY	900.00	\$19.00	\$17,100.00	\$18.00	\$16,200.00	\$41.00	\$36,900.00
214.	FINE GRADING	U	1.00	\$17,930.00	\$17,930.00	\$48,000.00	\$48,000.00	\$24,000.00	\$24,000.00
503.201	COFFERDAMS	U	1.00	\$3,300.00	\$3,300.00	\$20,000.00	\$20,000.00	\$23,000.00	\$23,000.00
503.202	COFFERDAMS	U	1.00	\$3,300.00	\$3,300.00	\$20,000.00	\$20,000.00	\$67,000.00	\$67,000.00
503.203	COFFERDAMS	U	1.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$22,000.00	\$22,000.00
603.99042	42" TEMPORARY DRAINAGE PIPE	LF	200.00	\$200.00	\$40,000.00	\$180.00	\$36,000.00	\$200.00	\$40,000.00
615.024	RELOCATING TRAFFIC SIGN TYPE B	U	2.00	\$125.00	\$250.00	\$535.00	\$1,070.00	\$280.00	\$560.00
615.034	RELOCATING TRAFFIC SIGN, TYPE C	U	2.00	\$225.00	\$450.00	\$200.00	\$400.00	\$280.00	\$560.00
615.054	RELOCATING TRAFFIC SIGN TYPE BB	U	2.00	\$50.00	\$100.00	\$100.00	\$200.00	\$280.00	\$560.00
615.064	RELOCATING TRAFFIC SIGN TYPE CC	U	2.00	\$50.00	\$100.00	\$100.00	\$200.00	\$280.00	\$560.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	31,000.00	\$1.00	\$31,000.00	\$1.00	\$31,000.00	\$1.00	\$31,000.00
618.7	FLAGGERS	HR	1,600.00	\$42.00	\$67,200.00	\$20.00	\$32,000.00	\$48.00	\$76,800.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$80,000.00	\$80,000.00	\$198,000.00	\$198,000.00	\$22,000.00	\$22,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$5,000.00	\$20,000.00	\$10,000.00	\$40,000.00	\$20,500.00	\$82,000.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,600.00	\$5.80	\$9,280.00	\$3.46	\$5,536.00	\$8.50	\$13,600.00
645.531	SILT FENCE	LF	2,750.00	\$3.50	\$9,625.00	\$2.87	\$7,892.50	\$4.70	\$12,925.00
645.611	BONDED FIBER MATRIX (BFM)	LB	23,940.00	\$2.00	\$47,880.00	\$2.15	\$51,471.00	\$5.45	\$130,473.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00	\$7,000.00	\$7,000.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	240.00	\$90.00	\$21,600.00	\$160.00	\$38,400.00	\$150.00	\$36,000.00
646.2	TURF ESTABLISHMENT WITHOUT MULCH	Α	6.00	\$5,566.05	\$33,396.30	\$5,000.00	\$30,000.00	\$8,000.00	\$48,000.00
647.1	нимиз	СҮ	3,640.00	\$33.00	\$120,120.00	\$12.00	\$43,680.00	\$130.00	\$473,200.00





40100

					PS&E	940 JOHN S	STRUCTION LLC TARK HIGHWAY RT, NH 03773	2 CENTE	CONTRACTING LLC NNIAL DRIVE AY, MA 01960
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
650.2	LANDSCAPING	U	1.00	\$145,500.00	\$145,500.00	\$185,000.00	\$185,000.00	\$132,000.00	\$132,000.00
662.282	DECOMMISSION MONITORING WELL	LF	30.00	\$80.00	\$2,400.00	\$300.00	\$9,000.00	\$90.00	\$2,700.00
670.0491	CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD	U	1.00	\$55,000.00	\$55,000.00	\$205,000.00	\$205,000.00	\$86,000.00	\$86,000.00
670.95	TEMPORARY SAFETY FENCE	LF	1,000.00	\$5.00	\$5,000.00	\$4.00	\$4,000.00	\$3.90	\$3,900.00
692.	MOBILIZATION	U	1.00	\$86,469.82	\$86,469.82	\$200,000.00	\$200,000.00	\$275,000.00	\$275,000.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$5,600.00	\$5,600.00	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00
698.12	FIELD OFFICE TYPE B	MON	15.00	\$2,250.00	\$33,750.00	\$800.00	\$12,000.00	\$550.00	\$8,250.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	12,500.00	\$1.00	\$12,500.00	\$1.00	\$12,500.00	\$1.00	\$12,500.00
1010.15	FUEL ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
			Totals:		\$1,416,151.12		\$1,765,674.50		\$2,678,313.0
			Alt. Totals:						
			Totals:		\$1.416.151.12		\$1.765.674.50		\$2,678,313.0



40100

				A-Bide	der	PS8	ε	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
201.1	CLEARING AND GRUBBING (F)	А	3.00	\$20,000.00	\$60,000.00	\$13,000.00	\$39,000.00	\$21,000.00
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	5,600.00	\$5.00	\$28,000.00	\$3.50	\$19,600.00	\$8,400.00
203.1	COMMON EXCAVATION	CY	37,100.00	\$15.00	\$556,500.00	\$12.00	\$445,200.00	\$111,300.00
203.11	COMMON EXCAVATION - LRS	CY	900.00	\$16.00	\$14,400.00	\$19.00	\$17,100.00	(\$2,700.00)
214.	FINE GRADING	U	1.00	\$50,000.00	\$50,000.00	\$17,930.00	\$17,930.00	\$32,070.00
503.201	COFFERDAMS	U	1.00	\$9,000.00	\$9,000.00	\$3,300.00	\$3,300.00	\$5,700.00
503.202	COFFERDAMS	U	1.00	\$29,000.00	\$29,000.00	\$3,300.00	\$3,300.00	\$25,700.00
503.203	COFFERDAMS	U	1.00	\$9,000.00	\$9,000.00	\$10,000.00	\$10,000.00	(\$1,000.00)
603.99042	42" TEMPORARY DRAINAGE PIPE	LF	200.00	\$100.00	\$20,000.00	\$200.00	\$40,000.00	(\$20,000.00)
615.024	RELOCATING TRAFFIC SIGN TYPE B	U	2.00	\$250.00	\$500.00	\$125.00	\$250.00	\$250.00
615.034	RELOCATING TRAFFIC SIGN, TYPE C	U	2.00	\$250.00	\$500.00	\$225.00	\$450.00	\$50.00
615.054	RELOCATING TRAFFIC SIGN TYPE BB	U	2.00	\$250.00	\$500.00	\$50.00	\$100.00	\$400.00
615.064	RELOCATING TRAFFIC SIGN TYPE CC	U	2.00	\$250.00	\$500.00	\$50.00	\$100.00	\$400.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	31,000.00	\$1.00	\$31,000.00	\$1.00	\$31,000.00	\$0.00
618.7	FLAGGERS	HR	1,600.00	\$39.00	\$62,400.00	\$42.00	\$67,200.00	(\$4,800.00)



40100

				A-Bid	der	PS8	λЕ	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$80,000.00	\$80,000.00	(\$30,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$6,500.00	\$26,000.00	\$5,000.00	\$20,000.00	\$6,000.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,600.00	\$6.00	\$9,600.00	\$5.80	\$9,280.00	\$320.00
645.531	SILT FENCE	LF	2,750.00	\$4.00	\$11,000.00	\$3.50	\$9,625.00	\$1,375.00
645.611	BONDED FIBER MATRIX (BFM)	LB	23,940.00	\$2.50	\$59,850.00	\$2.00	\$47,880.00	\$11,970.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$13,000.00	\$13,000.00	\$5,000.00	\$5,000.00	\$8,000.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	240.00	\$100.00	\$24,000.00	\$90.00	\$21,600.00	\$2,400.00
646.2	TURF ESTABLISHMENT WITHOUT MULCH	A	6.00	\$8,500.00	\$51,000.00	\$5,566.05	\$33,396.30	\$17,603.70
647.1	HUMUS	CY	3,640.00	\$20.00	\$72,800.00	\$33.00	\$120,120.00	(\$47,320.00)
650.2	LANDSCAPING	U	1.00	\$150,000.00	\$150,000.00	\$145,500.00	\$145,500.00	\$4,500.00
662.282	DECOMMISSION MONITORING WELL	LF	30.00	\$100.00	\$3,000.00	\$80.00	\$2,400.00	\$600.00
670.0491	CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD	U	1.00	\$100,000.00	\$100,000.00	\$55,000.00	\$55,000.00	\$45,000.00
670.95	TEMPORARY SAFETY FENCE	LF	1,000.00	\$4.00	\$4,000.00	\$5.00	\$5,000.00	(\$1,000.00)
692.	MOBILIZATION	U	1.00	\$150,000.00	\$150,000.00	\$86,469.82	\$86,469.82	\$63,530.18
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$5,500.00	\$5,500.00	\$3,500.00	\$3,500.00	\$2,000.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$7,500.00	\$7,500.00	\$5,600.00	\$5,600.00	\$1,900.00



\$1,416,151.12

40100

X-A004(345)

\$259,898.88

					der	PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
698.12	FIELD OFFICE TYPE B	MON	15.00	\$2,000.00	\$30,000.00	\$2,250.00	\$33,750.00	(\$3,750.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	12,500.00	\$1.00	\$12,500.00	\$1.00	\$12,500.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00

\$1,676,050.00

Total: